* %

Plusrechnen (bis 2 000)

Addieren

Aufgabe 1 Aufgabe 2

1. 923 + 477 = 1. 568 + 217 =
2. 743 + B27 = 2. 820 + 492 =
3. 824 + 472 = 3. 654 + 596 =
4. 688 + 337 = 4. B4F + 367 =
5 649 + 478 = 5. 739 + 610 =
6. TF5 + 428 = 6. 823 + 742 =
7. 785 + 550 = 7. 951 + 534 =
8. 714 + 302 = 8. 629 + 322 =
9. 962 + 328 = 9. 1000 + 288 =
10, 748 + 412 = 10. 849 + 252 =
Aufgabe 3 Aufgabe 4

1. 303 + 294 = 1. 683 + 312 =
2. 896 + 619 = 2. 520 + 358 =
3. 860 + 266 = 3. 827 + 279 =
4. 614 + 600 = 4. 545 + 443 =
5 987 + 559 = 5 390 + 384 =
6. 837 + 662 = 6. 997 + 710 =
7. 932 + 353 = 7. 807 + 718 =
8. 967 + F#6 = 8. 989 + 613 =
9. 709 + 296 = 9. 797 + 223 =
0. 350 + 313 = 0. 695 + 305 =
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* %

Plusrechnen (bis 2 000) | ANTWORTEN

Addieren

Aufgabe 1 Aufgabe 2

1. 923 + 477 = 1 400 1. 568 + 217 = 785
2. 743 + 527 = 1270 2. 820 + 492 = 1312
3. 824 + 472 = 1296 3. 654 + 596 = 1250
4. 688 + 337 = 1025 4. 547 + 367 = 914
5 649 + 478 = 1127 5. 739 + 610 = 1349
6. TF5 + 428 = 1203 6. 823 + 742 = 1565
7. 785 + 550 = 1335 7. 951 + 534 = 1485
8. 714 + 302 = 1016 8. 629 + 322 = 951
9. 962 + 328 = 1290 9. 1000 + 288 = 1288
10, 748 + 412 = 1160 10. 849 + 252 = 1101
Aufgabe 3 Aufgabe 4

1. 303 + 294 = 597 1. 683 + 312 = 995

2. 896 + 619 = 1515 2. 520 + 358 = 878

3. 860 + 266 = 1126 3. 527 + 279 = 806

4. 614 + 600 = 1214 4. 545 + 443 = 988

5 987 + 559 = 1546 5 390 + 384 = 774

6. 837 + 662 = 1499 6. 997 + 710 = 1 707
7. 932 + 353 = 1285 7. 807 + 718 = 1525
8. 967 + 776 = 1743 8. 989 + 613 = 1 602
9. 709 + 296 = 1 005 9. 797 + 223 = 1020
0. 350 + 313 = 663 0. 695 + 305 = 1 000
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